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F28 MEHIRY X7 L4

2.1 $RETEEROME

2.2 HERWMEBIRCHISIELRETIV

2.1



HIERER1—/3 X

v

FWEI—/IX

N

BMERETIVP(fe) SBETIPE)
‘\\\\\ A ‘/,x’/
A HARZE()) F1—5— 7D HEEEM(e)
MEIZEETH D, [ ™| argmaxP(jle)P(e) ™| | am a student.
2.1:
2.3 BIERRETIL
2.3.1 BIERETILOBRE
IBM GIZA++]7)

-
||| This ||| 0.666405 0.717667 0.427636 0.414483 2.718
||| This is ||| 0.0350318 0.717667 0.00184688 0.00875099 2.718
||| This is the ||| 0.0338983 0.717667 0.000335796 0.000587052 2.718
||| This book ||| 0.623288 0.585559 0.535294 0.219275 2.718
||| This book is ||| 0.235294 0.585559 0.0235294 0.00462955 2.718
-

e = 2.718)

phrase-length(Maximum Phrase Length)

10

(IBM

(IBM

max-phrase-length

11




max-phrase-length

2.3.2 IBMEERESTIU

(IBM Model)

IBM

€0

Brown
Brown IBM IBM
IBM Modell Modelb 5)
2.3.2
e
f ¢ P(fle)
(2.3) IBM
=>_P(f.ale) (2.3)
f e IBM
f
e f
f e

€o

2.2

€

ad W/

Le probléme ne est pas difficile
f f

1 2

E E
The problem |s not dlfflcult

a af =a; a2 ...

2.2:

(03] f1 Le €a1=1 The



2.3.3 Modell

(2.3) f=nmn
1 m e=c¢el 1 l
a= a7’ 1 m
P(f‘ f[ a]‘al ’ 17 7m>€)P(fj‘a{7 f;l?mae) (24)
(2.4) Modell
(2.4)
o e(= e(mll)) m e
(mle) = e(= e(m]l))
° l

d (fj’eaj) f] ea]
(f]|a'17 ) 76) (f]|€a])
(f,ale),P(fle)
P(f,ale) = mnlt(fj‘@aj) (2.5)
€ l l m
P(f’@) = <l+1m) = a;()jl;[ (f]‘eaa> (26)
€ m 1
= T IS ) 27
Modell t(fle) 0 EM
EM



2. (f® <S>) 1<s<S e
c(fle; £, ) c(fles f
(fles £, ) = —_1E) > S(F15) 3 (el
’ t(fleo) + .. +t(fler) 5= e
f fj =1 5(f’fj>
€; 2:1 5<€|6i)
3. e e
° Ae
S
de =D clfle £, e)
f s=1
o t(fle)
S
t(fle) = Aezzcme;ﬂs’,e‘s))
f s=1
_ Zf 1C(f‘€ f
Zst pe(fle; f e(s)
4. t(fle) 2 3
2.3.4 Model2
Modell P(filal™", A" m,e)
Model2 J a; m
a(ajlj,m,l) = P(aj|a{_1, f_l,m,e)

f
(s) e(s )

(2.8)

®

(2.10)

(2.11)



(l +1m)
Model2 c(fle;f e)

c(fle;fe) =

c(ilj,m,l;f,e) =

Model2 EM

Modell

,Modell

2.3.5 Model3

Model3 Modell Model2

o t(fle)

e n(gle)

d(jli, 1, m)

MN

(l+1m 0

H
Il

::13

l m
. Z H fj|€aj (aj|7,m,1)

!
Zt f]|ea] a(llj,m,1)
—0

c(ilj,m, ;£ e)

{7l |
T+ i 5 1) ek

t(fle)ails,m, l) (fIf5)d(eles

t(fileo)a(0]g, m, 1) + ... +t(fjlen)a(l|j,m,1)
> P(ale, f)d(i, a;)

t(fle)alily, m, 1)

t(fj|€0)a(0’j7ma l) + ot t(fj|el)a(”j7m7l)

Model2 a(a;lj,m,l) =

Model2

Model3

(2.12)

(2.13)

(2.14)

(2.15)



® Do P1

%o
Po
P(gol ¢}, ¢) = (d)l et @)pgl*“'*‘z’lp‘f"
Po
Model3
! l
P(fle) = 3 .. Y P(f.ale)

a1=0 Ay, =0

! l _ l
- Z Z (m %)pgnz%p?on(bi!n(@@i)

a1=0 Ay =0 0 =1

x [ t(fileq,)d(jlaj, 1, m)
j=1

Model3 EM

2.3.6 Model4

Model4 Model2 Model3

Model4 d(jli,1,m)

P(H[m = ]‘|7T¥]7177(l)7€) =di(j — @i—lfA(e[z;l}), B(fi))

P(Mgp = jlml " ah, €) = doi (G — mpge | B(f2))

(2.16)

(2.17)



2.3.7 Model5

Model4

2.3.8 GIZA++

GIZA++

IBM Modell 5

(Word Alignment)

1. T TABLE (Translation Table)

T TABLE

f
ID(e;d)

Modell Model3

(&

<P<fid’€id))

2. N TABLE (Fertility Table)
N TABLE

(p1)

ID(e;d)

ID(fid)

Modelb
Och  Ney
GIZA++
P(fle)
T TABLE
N TABLE
0 (p0) 1



4 A

-2.136928 many books -0.09209893

-1.276793 many people -0.142345

-2.582711 many points -0.124561

-2.138576 many questions -0.2320607
L )

many books logio
log1o(P(books|many)) 2-gram many books
many books logio log1o(P(books|many))
24.3

2.4.2 N-gram 7L

N-gram N-gram “ wi=wy, wy, ..., Wy,
1 wy; P(wz) (N - 1) ”
W Wa... Wy, P(wyws...wn) (2.18)
P(w11U2...wn> = H P(wi|wi_N+1, Wi—N42y -+ wi_l) (218)
i—1
I am a sturdent . 2-gram

P(e = “I am a student .”) ~ P(I)P(am|I)P(a|lam)P(student|a)P(.|student)

3-gram P(all am) 4-gram P(student|I am a)
(N-1) a  student
N-gram

10



2.4.3 XL—I45

N—gram W;—2W;_1W;
wf_Q W;i;—o2W;—_1W;j N(wf_Q) (219) 3—gram
N(w;_y)
0 0
N-gram
N — 1-gram N=3-gram
. )‘<w§:—2)p(wi|wf—2) if N(wp_,)
P(wilwi"7) =4 (1 = Xo(wi=3))aP(wilwi_1) else N(w'=3) (2.20)
P(w;|w;_1) other
A N-gram
N — 1-gram « 1
)\0 «
Mo(wi_p) =D Awi_y)p(wi|wi=5) (2.21)
a=1- > Pww_1))™" (2.22)
N(wt_,)>0
ukndiscount(Unmodified Kneser-Ney dis-
counting)  kndiscount(Chen and Goodman’s modified Kneser-Ney discounting)
ukndiscount  kndiscount
(undiscount,) N-gram
(kndiscount)

11



2.5 reordering-model

reordering-model

reordering Lexicalized Block Orientation 8]
9] i i+1
reordering
26 TI1—5—
é = argmax.P(e|j)
2.3
HExdsR3 —/ R — _
T IS B & W3R 95 . Ea—2
| study English . | study English .
N N
HERETIL SHBETI
#EE ||| English ||| 0.819 -3.974 English -0.113

AN EMK;.&ESC Fa—4 HB - WEEX

iz A | "BERER | |l buy a book .
2.3:

12



2.7 X7 L

24

AN 70— 5 — @R

SENX >R 7518 e—
X A7 HD
2.4:

2.8 IN\SA—HFa1—ZH

Mini-
mum Error Rate Training(MERT)[10] MERT
( BLEU)
100
MERT
100
30 100

13



F£3E HABXDFEIREE(CLSEMER

3.1 &{THRZE

3.1.1 ENFADZEIRZEE [3]

(SOV) (SVO)
3.1

BOBHRSBEDATREECL,
< HFADFEIRRE
HEBBCREBEBENDATEE,

3.1:

3.1 3.2

3.1:
BLEU | NIST | METEOR

0.1239 | 4.0997 0.3619
0.1208 | 4.0818 0.3587

14



3.2:

41 38 21

3.1.2 RBEHBESCEDCEIEZE [4]

[4] 3.2

N R
COR KREO FITHB BIEE FLTUE e
< XOEEEE
CORIE TUTUS 8% BITh3 AR .
< BAGEELE
ECOR TUBTL &81F Th3H OARE ,

3.2:

3.3

15



3.1.3

3.3:

BLEU | RIBES
0.3001 | 0.724
0.2919 | 0.685

FEIREE S JUAEIREEZ AV EFE ([11]

(SOV) (SVO)

3.3

RoGHEBEONTRERTL,
<+ BfFEDFERLE
BoBXERSBE DN TECL,

3.3:

RoRBBREBEONTRERBTL,
<+ BNEORIRLE
foBRERSBEDNTETCL,

3.4:

16

3.4



3.4

BEEIHROBEDOANTRERC R,
< FEANFEIREE
B THREBEBONERETL,

3.5:

BERBESBEEDANTRE BT,

< HFENEREE
BEBSBECLEBESBEEDANTERE,

/ < ENEOFELE

ﬁBHEtE”&%B%i@DTO
%( < PHEDERER

BEBBCRERTHOBED N,

3.6:

3.5

17

3.5



3.4:

BLEU

NIST

METEOR

RIBES

0.1361

4.7408

0.4550

0.7227

0.1343

4.7575

0.4548

0.7201

0.1305

4.7002

0.4522

0.7197

0.1352

4.8356

0.4644

0.7276

0.1326

4.7369

0.4572

0.7223

0.1269

4.6393

0.4474

0.7194

0.1365

4.8538

0.4659

0.7264

0.1343

4.7646

0.4519

0.7196

3.5:

75

11

63

27

11

73

11

13

71

13

12

71

11

10

73

10

DD || WO =D

14

69

11

3.2 EBRFE

3] [4]

[12] 21

18

3.7




jun]

=X
PELRSBEEAOIEESUTZOECBU T,
X1 X2 X3 X4 X5 X6 XTX8 X9

NRTHE(E1Y0209,5394)
DL/ 3/ three BRI/ hours 2/ the woodland

BEY 1)@/ path B0\ / walking 20 /the &/ inn &L/ got
| got to the inn after walking three hours along the woodland path .
X1X9  XT7X8 X6 X2 X3 X4 X5
3.7
« » «p
«“ /17 X1 “ o
“7. X1
“got” “ /got”
“got” “to”
< Jtor
(“path”)
“3” “oot”
“three” “3/three”
X2
3.8

19



]
PEL 3 RBEROMEESUTZOEICEN F

X1 X2 X3 X4 X3 X6 X7X8 X9

—

PELEEL R ZDEICBU T 3 BEE RO IE

£

X1 X9 XTX8 X6 X2X3 X4 X5

— ;a FEEY
Rza N

J==]

1 qot to the inn after walking three hours along the woodland path .
X1X9 X7 X8 X6 X2 X3 X4 X5

3.8:

“X1 X9 X7 X8 X6 X2 X3 X4 X©7

(XQ) (13 7
X9 13 7 X9

20




F4E ERRIE

4.1 =EBT—5
[13]
[13] 4.1
4.1:
99,989 97,765
9,999 9,784
1,000 976
10.5 14.0
( ) | (110,988 ) (108,525 )

Cabocha[14]

tokenizer.perl

lowercase.perl

4.1.1 HBX31—/IX

21




The union will join in the strike .
I always keep a dictionary at hand .
This book will meet the needs of students .

4.1.2 EXENXI—/IX

a )
NS )
4 )

We see herds of cows in the open meadow .
There was an ulterior motive in cultivating the friendship .
Reality is harsher than you think .

J
4 N\
\_ J
4.2 NWERAIFS
[12]
AJ( ) W ) N( ) ADV( ) AJV( )
VP( ) AJVP( ) ADVP( ) UNIQ

22



4.2

4.2:

I my me mine myself you your yours yourself
he his him himself she her herself they their them theirs themselves
a an the it that this these those be is are was were

4.2 13 7 13 ” “be?? Mit?’
4.3
4.3:
He ‘)
John ( )
I ( )
I ()
she ( )
one ( )
be ( )
be ( )
be ( )
it ( )
it ( )
it ()
4.3
4.4
4.4:
213,511 209,539 3,972

23



young (AJ)

expected (V)

She (N)

always (ADV)

very quiet (AJV)
greeted me (VP)

my favorite (AJVP)
for a long time (ADVP)

4.5:

100
4.5

92

o

proud

children

desperately

knock

run up to

a new menu
anticipates a surprise
finished his homework

24




. 8 A
father

a people

a surgeon

cultivate

vague

shamelessly

football career

excavate nesting cavities

4.3 BEREFTILOZEE

“train-factored-phrase-model.perl”

IBM modell 5 GIZA++

Moses grow-diag-final

max-phrase-length 20

4.4 EBHEEFTILDOZEE

“SRILM (Stanford Research Institute Language Model)” [15]
ngram-count kndiscount

N=5-gram

4.5 TA—5—(CEATB/I\SA—5

moses|[16] moses
“weight-t”
“0.20.20.20.20.27
“distortion-weight” “0.3”
“0( ) “weight-1
“0.17  “ttable-limit” “40” “weight-w” “17

25



moses “reordering-model”
“reordering-

model”

4.6 N—XZ>12V

“distortion-limit” “1”

4.7 REFZK

“distortion-limit” “6”

4.8 FHImAE

BLEU[17] NIST[17] METEOR[18]

RIBES[19] TER[20] WERJ[20] BLEU

4-gram NIST -
gram METEOR

RIBES TER
WER
BLEU METEOR RIBES
0 1 1 TER WER

0 NIST 0

26
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27



F£552 BHER=ERR

5.1 EBAA

5.2 HBNMO=EER

5.2.1 EZBIEZEDEBE

100
5.1

5.1:

“reordering-model”

90

10

10

5.2

28

5.3



5.2:

I watched the game on television .

X4 X1 X2 X3

I X4 X1 X2 on X3 .

Entering that university requires high scholastic ability .

X3 X1 X2 X6 X4X5

X3 X1 X2 X6 X4 scholastic Xb .

3

The new scholarship will provide a stimulus for young engineers .

X1 X2 X3 X7 X6 X4 X5

X1 X2 X3 will X7 X6 for X4 X5 .

29




5.3:

He is so tall that his head touches the ceiling .

X1 X5 X2 X4 X3
X1 is so X5 that his X2 X4 the X3 .
2

That person can speak a little Japanese .

X1 X4 X3 X2

X1 person can X4 X3 X2 .

3

Japan , too , must continue to cooperate in solving
Mexico’s debt problem .

X1 X3 X4 X2

X1 , too , must X3 to X4 in solving Mexico’s debt X2 .

° 1 13 2
o 2 X2 ¢ /person” “  /Japanese”
o 3 “ 7 “solving Mexico’s debt”

5.2.2 HBEENEHi

5.4

30



5.4:
BLEU | NIST | METEOR | RIBES | TER | WER

0.1430 | 4.9098 0.4617 0.7345 | 0.6820 | 0.6970
0.1340 | 4.7326 0.4513 0.7024 | 0.7178 | 0.7456

5.2.3 AFEH

5.5
5.5:
o o
7 5 86 2
5.2.4 BHERAI
5.6
5.7
5.6:
1
o He is fit as the captain of our team .

He which as the captain of our team .

He is working to be captain of our team .

2

o His mind was badly .

He is badly .

He is seriously deranged .

3

o The company is very important in the local economy .

It is important in the presence of the company local economy .

The company bulks large in the local economy .

31



5.7:

This medicine is effective cold .

o | This cold medicine works well .

This cold medicine is effective .

2

The car stationary .

o | The car is not working .

The car will not start .

3

I was completely overwhelmed the bad news .

o | She was absolutely crushed by the bad news .

We were totally crushed by the terrible news .

5.3 BEXENDRERER

5.3.1 EEIEZEDRBE

100
5.8

5.8:

87 13

13 2.9

32
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5.9:

The building was blazing furiously when we arrived .

X1 X2 X7 X6 Xo X3 X4
X1 X2 was X7 X6 X5 X3 X4 .
2

I got to the inn after walking three hours along the woodland path .

Xl X9 X7TX8 X6 X2X3 X4 X5

X1 X9 to X7 X8 after X6 X2 X3 along X4 X5 .

3

He is left his books open on the desk and gone off somewhere .

X3 X4 X2 X1 X6 X5

He is left his X3 X4 X2 the X1 and X6 off X5 .

33




5.10:

He lost his balance and fell down on the spot .

X1 X3 X2 X6 X4 X5
X1 X3 his X2 and fell X6 on X4 X5 .
2

If he does such a thing , I can not let it go unchallenged .

X1l X4 X3 X5 X2

If X1 X4 such X3, X5 can not let X2 go unchallenged .

3

The water dripping from the faucet began to jangle on his nerves .

X1 X4 X2 X3

The water dripping from the X1 X4 to jangle on X2 X3 .

° 1 [44 2
o 2 X2 ¢ /such” . /it
° 3 [44 7 t(jangle77

5.3.2 HBEEhEHi

5.11

34




5.11:

BLEU | NIST | METEOR | RIBES | TER | WER
0.1295 | 4.4601 0.4255 0.7181 | 0.7412 | 0.7565
0.1175 | 4.4218 0.4125 0.6749 | 0.7693 | 0.8027
5.3.3 AFFHE
5.12
5.12:
o o
2 5 89 4
5.3.4 #HERAI
5.13
5.14
5.13:
1
o These are the fact that we can not ignore .

These are not our ignored .

These are facts to which we cannot close our eyes .

2

o He lost his balance and fell down on the spot .

He lost his balance and fell to the body .

He lost his balance and fell down on the spot .

35




5.14:

She from my relatives .

o | She is my distant relative .

She is a distant relative of mine .

2

The noise of their frightened at the news .

o | They were frightened at the noise .

The noise made them timorous .

3

It is absurd that I am the representative of the team minutes .

o | It is laughable that I am the representative of the team .

It is ridiculous that I am the representative of the team .

5.4 ZERBDOIESH

36
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HR6E BER

6.1 SGITHZEE DLHER

6.2 B&IEFHEE AFEM
6.2.1 EBAR

(METEOR TER)
6.1
6.2 METEOR
0.6820

38

0.4617
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6.1:

1

METEOR 0.8217 TER 0.3333

The climate here that he did not agree with me .

The climate here did not agree with him .

2

METEOR 0.9269 TER 0.3636

The whole town was turned into a was reduced to
ashes in the bombing .

The whole town was reduced to ashes in the bombing .

3

METEOR 0.7496 TER 0.8333

The accident took two of his life .

The accident claimed twenty lives .

6.2:

1

METEOR 0.09837 TER 1.500

I can’t believe such a thing .

That beggars belief .

2

METEOR 0.2307 TER 1.000

It is an unreasonable request .

That’s asking too much .

3

METEOR 0.2500 TER 0.6000

He quickly wasted .

He is failing fast .

39




6.2.2 EBOITE

6.1 3 METEOR
6.2

6.3 EEIEZEDOBML
6.3.1 EEBAA

5.2.1 5.3.1
“reordering-model”
6.3.2 EBXNDREER
90
90 6.3
6.3: 90
O O
7 4 79
6.4
6.5

40
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6.4:

I have the blame .

The company persecuted is to me .

I am responsible for it .

There is a lot of the rank of the army .

There are all kinds of working in the army .

There are various ranks in the military .

3

He drove his car from Tokyo to Nagoya Nonstop .

He drove his car Nonstop driving was hard from Tokyo to Nagoya .

He made a nonstop motorcar drive from Tokyo to Nagoya .

41




6.5:

This medicine is effective cold .

o | This cold medicine works well .

This cold medicine is effective .

2

The car stationary .

o | The car is not working .

The car will not start .

3

I was completely overwhelmed the bad news .

o | She was absolutely crushed by the bad news .

We were totally crushed by the terrible news .

10
10 6.6

6.6: 10

6.7

6.7:

I am those is from the motives .

o | I say that is from the neat motives .

I am speaking from a disinterested motive .
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6.3.3 EXENXNDER

87
87 6.8
6.8: 87
o O
1 5 81
6.9
6.10
6.9:
o These are the fact that we can not ignore .

These are not our ignored .

These are facts to which we cannot close our eyes .

6.10:

The noise of their frightened at the news .

o | They were frightened at the noise .

The noise made them timorous .

2

She from my relatives .

o | She is my distant relative .

She is a distant relative of mine .

3

Her hat is a very

o | Her hat is weird .

Her hat is a horror .
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13

13 6.11
6.11: 13
o O
1 0 12
6.12
6.12:
o He lost his balance and fell down on the spot .

He lost his balance and fell to the body .

He lost his balance and fell down on the spot .

6.3.4 ZEBOIEH

6.4 “reordering-model” DR
6.4.1 EBAR

“reordering-model”

“reordering-model” “reordering-model”

model ”) (“reordering-model )
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“distortion-limit” “1”

6.4.2 BXNDEER

6.13 6.14

6.13:

BLEU | NIST | METEOR | RIBES | TER | WER
“reordering-model 71 0.1340 | 4.7326 0.4513 0.7024 | 0.7178 | 0.7456
“reordering-model 7 10.1336 | 4.8281 0.4511 0.7044 | 0.7080 | 0.7346

6.14:
“reordering-model 7o | “reordering-model e

4 1 73 22
“reordering-model K 6.15 “reordering-model

K 6.16

7

6.15: “reordering-model

“reordering-model o | This cold medicine works well .

“reordering-model This medicine works well cold .

This cold medicine is effective .
2

“reordering-model o | I say that is from the neat motives .

“reordering-model I always neat say that from motive .

I am speaking from a disinterested motive .

3
“reordering-model 7o | The air was filled with black smoke .
“reordering-model ? The air was filled with of black smoke .

The air was thick with black smoke .
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7

6.16: “reordering-model

b}

“reordering-model I have three years apart with my brother .

7

“reordering-model o | My brother and I are three years apart .

My younger brother and I are three years apart in age .

6.4.3 EXEXNDER

6.17 6.18
6.17:
BLEU | NIST | METEOR | RIBES | TER | WER

“reordering-model 71 0.1175 | 4.4218 0.4125 0.6749 | 0.7693 | 0.8027
“reordering-model 71 0.1140 | 4.3863 0.4092 0.6694 | 0.7778 | 0.8124

6.18:
“reordering-model 7o | “reordering-model e

1 2 80 17
“reordering-model K 6.19 “reordering-model

K 6.20

7

6.19: “reordering-model

7

“reordering-model o | They were frightened at the noise .

7

“reordering-model They lived to hear the noise .

The noise made them timorous .
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7

6.20: “reordering-model

“reordering-model 7 He lost his balance and fell to the body .

“reordering-model o | He lost his balance and fell down on the spot .

He lost his balance and fell down on the spot .

2

“reordering-model His resignation , I do not to do so .

“reordering-model o | He is such a thing , but I do not keep silent .

If he does such a thing , I can not let it go unchallenged .

6.4.4 ZEBOIEH

oo K “reordering-model”

6.5 HAEBXNEBIEZSVSF LICERZEE
6.5.1 EEBAR

6.3 6.4

6.5.2 MEIEFE
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HAEN

PELESEEERODEEBUTZOBIEW k.

X1 X2 X3 X4 X5 X6 XT7TX8 X9
FERAEE(B/1Y1209,5390)

DL /1 3/ three BRI/ hours 2/ the woodland
BEY I8 /path B0/ walking 20 /the &/ i &L/ got

X1X9  XT1X8 X6 X2 X3 X4 X5

| got to the inn after walking three hours along the woodland path .

6.1:

6.2

S

LESKEEROIEEBNTZORICEN L.

’| X2 X3 X4 X5 X6 X1X8 X9

-zl

BEDRELEBVWTIREEZNDBURIMEEFR D,

X7 X1 X6 X2X3 X7X9 X5 X4 i
SRR
e BAELEHEY

| got to the inn after walking three hours along the woodland path .
X1X9  XT7X8 X6 X2 X3 X4 X5

6.2:
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“reordering-model”

6.5.3 HAZEXNDH

6.21
6.22

6.21:

The performance test of new cars was held .

X4 X2 X3 Xl

The X2 X3 of X1 was X4 .

2

This is the identical room we stayed in last year .

X3 X2 X4X5 X1 X6

X1 is the X6 X2 X3 X5 in X4 year .

3

He finally got up the courage to reveal his feelings to the girl .

X3 X6 X5 X2  X4X1

X1 X2 got up the courage to X6 his X3 to X4 X5 .
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6.22:

I owe what I am today to you .

X1l X3 X2 X4
X1 X3 what I am X2 to X4 .
2

Providing good surroundings to raise children soundly
is desirable .

X3 X5 X4 X1 X6 X2
X5 good X4 to X3 X1 X2 is X6 .
3

In order to move a car , first you have to start the engine .

X2 X4 X3 X5 X1

In order to X2 X1 , X3 you X5 to start the X4 .

6.5.4 BXNDERR

6.23

6.23:
BLEU | NIST | METEOR | RIBES | TER | WER

0.1271 | 4.7223 0.4468 0.7010 | 0.7197 | 0.7467
0.1341 | 4.8670 0.4560 0.7040 | 0.7047 | 0.7327

20



6.25

6.24:

6.24
6.26

6.25:

This medicine works very well for a cold .

This medicine works well cold .

This cold medicine is effective .

2

I will be glad to help you any time .

I help you any time .

I'm always ready to help .

3

The air was filled with black smoke .

The air was filled with of black smoke .

The air was thick with black smoke .
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6.26:

6.5.5

1
C )
The engineers a brilliant in our company .
o There is a brilliant engineers in our company .
Our company has some talented technicians .
2
C )
The game I saw on television .
o I saw the match on TV .
I watched the game on television .
3
C )
My brother is and three years .
o My brother and I are three years apart .
My younger brother and I are three years apart in age .
EXEXDER
6.27

6.27:

BLEU | NIST | METEOR | RIBES | TER | WER

0.1016 | 4.2077 0.3978 0.6613 | 0.7848 | 0.8191

0.1128 | 4.3727 0.4075 0.6651 | 0.7830 | 0.8174

6.29

6.28
6.30

52




6.28:

6.29:

He volunteered to go with her .

He voluntarily going with her .

He volunteered to go with her .

2

It is a great honor to see you again .

It is a great honor and see you again .

Great to see you again .

3

This is the house where I was built design .

This house was built to design of me .

I planned and built this house .

23




6.30:

1
C )
The of her hat .
o Her hat is really weird .
Her hat is a horror .
2
C )
The day for the fog .
o The sun dispels the fog .
The sun dispels the mist .
3
C )
I woke up , I failed .
o I woke with my failure .
My failure brought me to my senses .

6.5.6 ERBROIEOH

6.6 BN\YVODINI—V&EFEHLUCEER

6.6.1 EBAAR

o4




6.6.2 AFIER/NS— DA

6.31

6.31:

NI N2 N3 N4 Nb

Her face lit up when she heard the news.

2

N1 N2 N3N4 N5 N6

My hobby is collecting stamps from different countries.

3

N1 N2 N3 N4 N5 N6

This is one of the old folk songs people love to sing .

6.6.3 =EERER

50

6.32:

19 4 13

14

6.33
6.34

95

6.32




6.33:

I was humiliated for having no knowledge of table manners.

X1 X2 X3 X4 X5

Xl X2 X3 X4

In order to appreciate a poem, you should read it aloud.

X1 X2 X3 X4

X1 X2 X3

This is a collection of Russian folktales.

X1 X2 X3 X4

X1 X2 X3

26




6.34:

I try to make myself agreeable while in the office.

X1

X1 X2 X3 X4 X5

This is one of the old folk songs people love to sing.

Xl X2 X3 X4 X5 X6 X7

Xl X2 X3 X4 X5 X6

He stomped on the gas pedal when the green light came on.

X1 X2

X1l X2 X3

6.6.4 EEBOIEH

o7




6.7 “distortion-limit” DEZZ X [z EER

6.7.1 RBAR
“distortion-limit” “distortion-limit”
“reordering-model”
6.7.2 EBNXNORERER
6.35 " distortion-
limit” 3
6.35:
BLEU | NIST | METEOR | RIBES | TER | WER
(0) 0.1235 | 4.7473 0.4459 0.7273 | 0.6961 | 0.7115
(1) 0.1235 | 4.7473 0.4459 0.7273 | 0.6961 | 0.7115
(2) 0.1271 | 4.7613 0.4475 0.7286 | 0.6964 | 0.7117
(4) 0.1338 | 4.7533 0.4509 0.7291 | 0.7048 | 0.7201
BRFE(6) | 0.1418 | 4.9383 | 0.4625 | 0.7371 | 0.6798 | 0.6951
REFE8) 0.1445 | 4.8564 0.4624 0.7323 | 0.6896 | 0.7062
(10) 0.1435 | 4.8510 0.4599 0.7320 | 0.6939 | 0.7112
(12) 0.1441 | 4.9375 0.4637 0.7315 | 0.6833 | 0.7012
(-1) 0.1413 | 4.7984 0.4556 0.7268 | 0.7027 | 0.7206
(6) | 0.1233 | 4.7121 0.4396 0.7005 | 0.7114 | 0.7405
N—RXS1V (-1) | 0.1377 | 4.8628 0.4566 0.7106 | 0.6969 | 0.7230

o8



6.7.3 EBEXEMXNDXEER

” distortion-

6.36
limit” 3
6.36:
BLEU | NIST | METEOR | RIBES | TER | WER
(0) 0.1176 | 4.3081 0.4100 0.7098 | 0.7491 | 0.7623
(1) 0.1176 | 4.3081 0.4100 0.7098 | 0.7491 | 0.7623
(2) 0.1192 | 4.3151 0.4089 0.7082 | 0.7534 | 0.7661
(4) 0.1245 | 4.3282 0.4135 0.7101 | 0.7525 | 0.7668
(6) 0.1295 | 4.4601 0.4255 0.7181 | 0.7412 | 0.7565
REFIE (8) 0.1310 | 4.4977 | 0.4274 | 0.7196 | 0.7401 | 0.7560
RBREFE (10) 0.1314 | 4.5233 0.4291 0.7123 | 0.7449 | 0.7644
(12) | 0.1297 | 4.4569 | 0.4260 | 0.7112 | 0.7547 | 0.7747
(-1) 0.1289 | 4.4643 0.4271 0.7076 | 0.7496 | 0.7695
(6) 0.0991 | 4.1837 0.3885 0.6493 | 0.8028 | 0.8437
N—RXZM1V (-1) | 0.1175 | 4.4218 0.4125 0.6749 | 0.7693 | 0.8027
6.7.4 ZEEBOFIEH
“distortion-limit” “6” “8”

“distortion-limit” “Q7

64_177

LLlO??

6.8 EBIEZEDHEDSHE

29
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